
SBL 0302 Salon Bridgekerho

2025-05-08  Syrwwnisalissa 8.5.25 Lopputulos
3 pöytää, 6 paria. Jakomäärä: 30. Keski: 60.

Pari Sit LK Tulos Pisteet
Jako:  1

2 4 1N S +1 2 120       4 0
3 5 2 E -1 9 50       2 2
6 1 2 E = K -110 0 4

Pari Sit LK Tulos Pisteet
Jako:  2

2 4 1 E +4 A -150 2 2
3 5 4 E +1 A -150 2 2
6 1 1 E +4 6 -150 2 2

Pari Sit LK Tulos Pisteet
Jako:  3

3 5 2 W -2 A 200       4 0
2 4 2 N -1 7 -50 1 3
6 1 3N S -1 10 -50 1 3

Pari Sit LK Tulos Pisteet
Jako:  4

2 4 2 W -3 5 300       3 1
3 5 3 E -3 A 300       3 1
6 1 2N S = 2 120       0 4

Pari Sit LK Tulos Pisteet
Jako:  5

2 4 5 N +1 K 620       3 1
6 1 5 N +1 K 620       3 1
3 5 5 N = 7 600       0 4

Pari Sit LK Tulos Pisteet
Jako:  6

3 5 2 E -2 6 200       4 0
6 1 1N S -1 7 -50 2 2
2 4 1N N -3 7 -150 0 4

Pari Sit LK Tulos Pisteet
Jako:  7

1 5 1 N +2 A 140       3 1
4 3 3 N = A 140       3 1
6 2 3 N -1 7 -100 0 4

Pari Sit LK Tulos Pisteet
Jako:  8

1 5 2 E +1 2 -140 4 0
4 3 3N W = 3 -400 2 2
6 2 4 E = 2 -420 0 4

Pari Sit LK Tulos Pisteet
Jako:  9

6 2 3N S +1 2 430       4 0
1 5 4 N +1 A 150       1 3
4 3 4 N +1 A 150       1 3

Pari Sit LK Tulos Pisteet
Jako:  10

6 2 2N E -2 J 200       4 0
1 5 2 S -1 9 -100 2 2
4 3 4 S -3 K -300 0 4

Pari Sit LK Tulos Pisteet
Jako:  11

6 2 1N N +1 7 120       4 0
4 3 3 N -2 A -100 2 2
1 5 3 S -3 3 -150 0 4

Pari Sit LK Tulos Pisteet
Jako:  12

4 3 3N E -1 7 50       4 0
1 5 5 W = A -400 2 2
6 2 4 E +1 A -450 0 4

Pari Sit LK Tulos Pisteet
Jako:  13

6 3 1N S +2 3 150       4 0
2 1 2 S +1 A 110       2 2
5 4 3N N -1 2 -100 0 4

Pari Sit LK Tulos Pisteet
Jako:  14

2 1 3 S -1 3 -50 4 0
5 4 3 N -2 4 -100 1 3
6 3 3N S -2 6 -100 1 3

Pari Sit LK Tulos Pisteet
Jako:  15

2 1 2 E -1 J 50       4 0
6 3 2 E +1 5 -140 2 2
5 4 2 E +2 6 -170 0 4

Pari Sit LK Tulos Pisteet
Jako:  16

6 3 4 W -1 A 100       4 0
2 1 3 S -2 A -100 2 2
5 4 4x N -2 10 -300 0 4

Pari Sit LK Tulos Pisteet
Jako:  17

6 3 2N S +1 3 150       4 0
2 1 2 S -1 3 -50 1 3
5 4 2 S -1 3 -50 1 3

Pari Sit LK Tulos Pisteet
Jako:  18

2 1 4 N +1 A 150       2 2
5 4 3 N +2 10 150       2 2
6 3 2N S +1 8 150       2 2

Pari Sit LK Tulos Pisteet
Jako:  19

6 4 3N W -1 J 100       4 0
1 3 2N W +2 2 -180 1 3
5 2 2N W +2 5 -180 1 3

Pari Sit LK Tulos Pisteet
Jako:  20

6 4 5x W -1 K 200       4 0
1 3 6 W -1 A 100       2 2
5 2 4 W +1 4 -650 0 4

Pari Sit LK Tulos Pisteet
Jako:  21

5 2 3 N +1 J 170       4 0
1 3 2N S +1 6 150       2 2
6 4 6 S -1 A -100 0 4

Pari Sit LK Tulos Pisteet
Jako:  22

5 2 4 S = 5 420       4 0
1 3 3N S = 2 400       2 2
6 4 3N N -1 2 -50 0 4

Pari Sit LK Tulos Pisteet
Jako:  23

1 3 1 W +3 9 -170 4 0
5 2 2N W +2 3 -180 2 2
6 4 3N E +1 7 -630 0 4

Pari Sit LK Tulos Pisteet
Jako:  24

1 3 4 N = 6 420       3 1
6 4 4 N = K 420       3 1
5 2 4 N -1 K -50 0 4

Sija Pari Pisteet % Nimi J-ID Kerho

1 4 70 58,3 Jaakko Salo - Erkka Jaakkola 2981 3592 Salon Bk
2 2 65 54,2 Varpu Honkakoski - Tarja Vataja 1254 8560 Salon Bk
3 1 61 50,8 Anneli Saneri - Sirpa Lindberg 1959 8111 Salon Bk - Somero bridge
4 6 58 48,3 Ilkka  Tommila - Robert Såltin 8100 2966 Somero bridge - Ei SBL:n jäsen
5 3 56 46,7 Mervi Mikkola - Hannu Nokka 2490 3590 Salon Bk

6 5 50 41,7 Jaakko Viima - Matti Rintala 2080 3024 Salon Bk



SBL 0302 Salon Bridgekerho

2025-05-08  Syrwwnisalissa 8.5.25 Lopputulos
3 pöytää, 6 paria. Jakomäärä: 30. Keski: 60.

Pari Sit LK Tulos Pisteet
Jako:  25

3 2 3N E +3 3 -690 2 2
4 1 3N E +3 3 -690 2 2
6 5 3N E +3 5 -690 2 2

Pari Sit LK Tulos Pisteet
Jako:  26

3 2 2 S +1 7 110       4 0
4 1 3 S -1 2 -100 1 3
6 5 4 S -1 A -100 1 3

Pari Sit LK Tulos Pisteet
Jako:  27

4 1 1 N +1 J 110       3 1
6 5 2 S +1 5 110       3 1
3 2 1 S = 7 70       0 4

Pari Sit LK Tulos Pisteet
Jako:  28

4 1 3N N +2 A 660       4 0
6 5 3N N +1 2 630       2 2
3 2 3N N = J 600       0 4

Pari Sit LK Tulos Pisteet
Jako:  29

4 1 2N N +1 8 150       4 0
3 2 2 S +1 6 110       2 2
6 5 1 N -1 Q -100 0 4

Pari Sit LK Tulos Pisteet
Jako:  30

3 2 3x W -2 10 300       4 0
6 5 1N S +2 K 150       2 2
4 1 1N S = 7 90       0 4


